How to estimate the wave length
Parameters:

· h= depth measure along the direction of wave propagation (at least three points);
· T= wave period; (for hypothesis constant along the propagation)
· L0= wave length on deep water;
· L= wave length according the value of depth;
· K= wave number.
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“a “ is for example 3% or other value
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Example of calculation steps along the path choosen
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It is necessary that you verify that the condition is not as “shallow water
Then the ratio between depth d and Length L 

Deep water d/L >0,5

Intermediate depth 0,05 <d/L<0,5

Shallow water d/L < 0,05
h; T
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First step





  L=L0=Lc





(Li-Lc )/Lc % ≤ a
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   L=Li





in next step: Lc=Li





 Li = [gT2/(2(])]*[Th(2(*h/Lc)]
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